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GEOGRAPHY
Paper - Il

1.  Match List-I and List-Il. Find out the | 2. The main criteria used in the
correct answer from the codes given ‘Thornthwaite’s thermal regime
below : classification is/are. Select the answer

from the codes given below :
List-I List-II (a) Water deficit
_ (b) Water surplus
(Precipitation Form) (Characteristics)
(c) Actual evapotranspiration
(a) Sleet (i) icy deposits on (d) Potential evapotranspiration
the ground below Codes -
freezing point odes :
(A)  (a), (b), (c) and (d)
(by Fog (ii) condensation of (B) (a) only
water vapour on
relatively cool (C) (b) and (c)
f .
surfaces D) (0 and @
© Dew (ili) obscurity in the |
surface layers of 3. Ozone hole formation is prominent
the atmosphere over -
(d) Frost (iv) mixture of rain (4) Equatorial region
and snow (B) Mid latitudes
(C) Arctic region
Codes :
(D) Antarctica region
(a) (b) (¢} (d)
_ 4. During summer season in the southern
- (A () @) i) 3Gv) hemisphere, between south pole and
Antarctic circle, the day light lasts for :
B) @(v) Gi) Q) @ (A) No sunlight at all
_ {(B) 12 hours
(O Gi) @ Gv) @)
{(C) 24 hours
D) @) Gv) G @ii) (D) 18 hours

Paper-II1
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Match List-I and List-II. Find out the
correct answer from the codes given
below :

List-I List-IT
{(Instrument) (Measurement)
(a) Pyrheliometer (1) Infrared
radiation
(b) Pyranometer (i) Short wave
radiation
(¢) Pyrgeometer (iii) Solar
intensity
() Pyrradiometer (iv) Both
Infrared
and Solar
radiation
Codes :
(a) (b) (c) (d)
Ay @) @) @ @)
B) @ ) (i) @Gv)
(C) @G @) Gv) @
D) (v Gy ()

Find out the correct statements from
the following. Select the correct
answer from codes given below :

(a)

Ozone hole formation is prominent

near Arctic.

(b) Ozone absorbs Ultraviolet
radiation.

(¢) Ozone layer lies at a height of

16-40 km.

Ozone is not significant for the
living-beings of the earth.

Codes :

|

(d)

L0 T

7. Match List-I with List-II. Select the
correct answer from the codes given
below :

List-1 List-I1

(Air mass type) (Source region

properties)

(a) Arctic (1) Cold, dry and very
stable
(b) Continental (11) Warm, very moist

Polar and unstable

(c) Continental (iii) Hot, very dry and

Tropical unstable

(d) Equatorial (iv) Very cold, dry and
stable
Codes :
(@ (b) () (d)
@) v @ 3G @)

® G ) (v O
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8. Match List-I with List-II. Select the
correct answer from the codes given

below :
List-]I List-II
(Drainage (Their development
patterns) on)

Develops on granitic
rocks with strong joint
system

Develops relatively
uniform geologic
structure

(c) Rectangular (iii) Develops on uplifted
dome or volcanic cone

(a) Dendritic (i)

(b) Trellis (i1)

(d) Radial (iv) Develops on
- alternating bands of
hard and soft rocks
Codes :
(@) (b) (c) (d)
(A) @v) i) Gi) @)
B) (i) @) @© 3w
© @) Gv) @ (i)
M) @ G{v) i) ()

9.  Match List-I with List-II and select the
correct answer from the codes given

below :

List-I List-II
(Mechanical (Process involved)
weathering)

(a) Frost wedging (i) Capillary action
(b) Salt wedging (i) Removal of overlying
material
{c) Exfoliation (iii) Expansion and
contraction
(d) Alternate (iv). Alternate Freezing
temperature and Thawing
variation .
Codes :
(a) (b) (c) (d)
A) @ () @) (v)
(B) Gvy () @G (id)
(C () Gv) () (i)
D)y G vy @ @

Paper-II1

10. Match List-I with List-II. Select the
correct answer from the codes given

below :
List-I

(Land masses)

List-II

(Jig saw fit into)

(a) Bulge of Brazil (i) Bay of Bengal

{b) Antarctica

(c) Bulge of
Ethiopia and
Eritrea

(d) North tip of

Australia
Codes :

(@ (b) (9
(A) () @) @)

(B) (i) (@v) (@)
© v () O
O @ G @i

(i1) Gulf of Guinea
(ii1) South

Australia and
South Africa

(iv) Western India

-and Pakistan

(d)
@
L
(iii)
(wv)

11. Due to convergence of which plates

earthquake activity occurs in Alpide
belt ?

(A) North American and Eurasian
plates

(B) South American and African plates

(C) African, Arabian, Indian and
Eurasian :

(D) Pacific and North American plates

C-01-17
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13.

14.

15.

16.

AB)

Rise in the continental areas after
deglaciation is known as :

(A) Plate tectonics
(B) Continental drift
(C) Mountain building

Isostatic rebound

D)

Which type of soil flow is widespread
in permafrost regions ?

(A) Exfoliation
(B) Solifluction
(C) Hibernation
(D) Translocation

Concept of geomorphic cycle was put
forwarded by :

(A) Lester King
(B) Penck

(C) W.M. Davis
(D) D.W. Johnson

Asthenosphere extends to a depth of
about : :

(A) 10km (B) 100 km
(C)y 250km (D) 65km

Find out the correct sequential order
of ocean areas with blue mud deposits
by volume in increasing order :

(&)

Indian Ocean, Pacific Ocean,
Arctic Ocean, Atlantic Ocean

Arctic Ocean, Atlantic Ocean,
Pacific Ocean, Indian Ocean

Pacific Ocean, Indian Ocean,
Arctic Ocean, Atlantic Ocean

Indian Qcean

©

TErE b

D)

17.

(b) Convection

(c) Expansion

18.

AWM

Match List-1 and List-II. Find out the
correct answer from the codes given
below :

List-I List-I1
(Theories of (Proposed by)
origin of
continents
and oceans)

(a) Tetrahedral (i) Otto Hilgenberg,

Theory Warren Carey,
Klaus Vogel and
Vom Warchsenden

(11) George Darwin

Theory

(iii) Lowthian Green

Hypothesis
(d) Metcorite (iv) Vening-Meinesz,
Theory Gutenberg and
Holmes
Codes :
(@ (b) (¢) (d)
(Ay (i) Gv) @ (@G
B) @ @) @) Gv)
(Cy Gv) (@) G (i)
D) Gv) (i) @) @
Blue mud forms because of
disintegration of rocks which contain :
(A) Iron oxide and organic matter
(B) Silicates of potassium and
glauconite
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19.

20.

21.

(a) Prairies

Longshore currents are generated due
to:

(A) Wave approach is perpendicular to
the coast

(B) Wave approach 1s oblique to the
coast

(C} Presence of large quantities of
sediments

(D) Presence of river mouth

Match List-I with List-II. Select the
correct answer from the codes given
below :

List-I List-I1
{(Name of the (Region)
Grassland)

(i) South America

(b) Steppes (i1) Australia
(c) Pampas (ii1) North America
(d) Veldts (iv) Eurasia
Codes :
(@ (b) (¢) (d)

A Gv) u) @) O
B) @) @) @ a6
© @ G 3@ G
M G @) Gv) (i)

Find out the sequential stages of

gsuccession in an ecosystem associated

with primary succession :

(A) Mosses, Autotrophs, Lichens,
Heterotrophs

(B) Lichens, Heterotrophs, Mosses,
Autotrophs

(C) Autotrophs,
Mosses, Lichens

Heterotrophs,

)

Lichens, Mosses, Autotrophs,
Heterotrophs

Paper-II1

22.

23.

24.

The cause for skin cancer is because,
0ZONne removes :

(A) Vitamin D from the skin
(B) Vitamin A from the skin
(C) Vitamin E from the skin
(D) Vitamin C from the skin

Assertion (A) :

Insects in the tundra region are
numerous in number even during
winters.

Reason (R) :

Insects can survive in the larval form
throughout the winter.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct and
(R) is not correct explanation of

(4).
(C) (A) is correct but (R) is wrong.
(D) (A) is wrong but (R) is correct

Dynamic systems are of
nature.

(A) Adjusting
(B} Predictive
(C) Adaptive

(D) Circular and Cumulative

C-01-17




25. Quantification in Geography helped in

studies.
(A) Empirical
(B)Y Behavioural
(C) Ecological

(D) Environmental

26. Concept of social darwinism was given

by :

(A) Ritter

(B) Ratzel
(C) Kant

(D) La blache

27. Match the following :
List-I
(a) Models in
Geography
(b) Erdkunde
(¢} Historia
Naturalie
(d) Foundations
of Regional
Geography
Codes :
(a) (b) (o)
(A) @) @v) @)
(B) Gv) (@) (1)
(© @G @ Gauw
Dy Gi) @) ()

Paper-II1

@)

(1)
(iii)

(iv)

List-11
Hettner

Pliny
Ritter

Haggett
and Chorley

RN R

28. Match the following :

List-I List-II
(a) Mackinder (i) Probabilism
(b) Ratzel (ii) Possibilism
(¢) La Blache (i) Lebensraum

(d) Spate (iv) Geographical
Pivot of History

Codes :

@ () () (@
A) () vy @ @
(B) Gv) @) (1 (@)
© Gy @ G Gv)
D) () ) v @

29. The book ‘Geography: A Modern .
Synthesis’ has been written by :

(A) Hartshone
(B) Peter Hagget
(C) Brian Berry

(D) Huntington

30. Who among the following Arabs is
considered a political geographer ?

(A)Y Ibn Khaldun
(B) Ibn Batuta
(C) Al Biruni
(D) Al Idrisi

C-01-17




O

31. The hierarchy of Christaller
maximizes the number of central places
in a region.

(A) Marketing

(B) Transport

(C) Service

(D) Administrative

32. Nations with a high density of

population have a threshold
for defining urban areas.

(A) Low (B) High

{C) Relaxed (D) Medium

33. Transportation Principle is associated

with __________ in the Christaller
Model

A) K3 (B) K4

(C) K7 (D) K9

34. A process whereby a low rent
neighbourhood is transformed into a
high rent neighbourhood through
redevelopment is known as

(A) Suburbanization
(B) De Urbanization
(C) Gentrification
(D) Urban Explosion
35. The city is commonly at

least twice as large as the next largest
city and more than twice as significant.

(A) Capital

(B} Primate

(C) Mega

(D) Metropolitan

Paper-II1

36.

37.

38.

39.

Concentric Zone Model studies the land
use in a city from the perspective of :

(A) Distance from the city centre
(B) Direction from the city centre
(C) Distance and direction from the

city centre

(D) Srr}all pockets of land use

The diagram below relates to thie theory
of :

City-poor sector

City-rich sector

(A) | Christaller

(B} Losch

(C) Burgess

(D) Hoyt

.The central theme behind the

development of industrial location
theory is the concept of

(A) Least transport cost

(B) Locational interdependence
(C) Critical isodapane

(D) Optimum location

Losch proposed approach to
study industrial location problems.

A)
(B)
©
(D)

Transfer cost
Profit maximisation
Agglomeration economics

Spatial equilibrium

C-01-17




40. Which among the following is the lowest
grade coal ?
(A) Lignite
(B) Anthracite
(C) Peat
(D) Bituminous
41. Where is commercial grain farming
practiced ?
(A) South European Countries’
(B) East Coastal plains of Australia
(C) North American plains
(D) Plains of Argentina
42. ‘Horticulture is most widespread in
the :
(A) Mediterranean region
(B) Subtropical region
(C) Temperate region
(D) Egquatorial region
43. Planktons are .
(A) Endangered Dbirds of the
Himalayas
(B) Rare grasses in the Sahara Desert
(C) High altitude soils of the Alps
(D) Small creatures as food stuff for
fishes
44. Weaver’s ‘crop combination regions’
study was carried out in
(A) South Eastern Australia
(B) South Western Germany
(C) South Central China
(D) Maid Western USA
Paper-IiI
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45.

46.

47.

VO A0

Von Thunen’s theory of agricultural
land use was based on the concept of

(A) Isotropic surface
{B) Locational triangle
(C) Rank-size rule

(D) Economic rent

Epicanthic fold is the characteristics of

race.
(A) Mangoloid
(B) Caucasoid
(C) Negroid
(D) Australoid

Match List-I and List-II and identify
the correct answers using the codes
given below :

List-I List-I1
(Tribes) (State/Union
territory)
(a) Todas (i) Tamilnadu
(b) Santhal (ii) Bihar
(c) Onges (1) Andaman and
Nicobar
(d) Bhil (iv) Madhya Pradesh
Codes : '
(@ (b) (¢) (d)
A v 3dh 34 @
B @ @ @) @)
C) Gv) G @@ (i)
D) (i) @ 3G @)

C-01-17
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48. According to Heartland Theory of
Mackinder the ‘World Island’ includes :

(A) Europe, Aéia, Africa

(B) Europe, Asia

(C) Asia and Africa

(D) Europe, Africa

49. Shintoism and Judaism belong to

religion.

(A) Tribal

(B) Traditional

(C) Universal

(D) Ethnic

50. Consider the following statements and
identify the correct answers from the

codes given below

{a) Frontiers are areal and boundaries
are linear in character

(b) Frontiers are purely political in
origin

{c) Boundaries are transifional zones
between geographical region
rather than between states

(A) (a) and (c) are correct

(B) (b) and (c) are correct

(C) Only (a) is correct

(D) (a) and (b) correct

51. Relict boundary existed between :
(A) India and Bangladesh
(B) USA and Canada

(C) East and West Germany
(D) Ghana and Nigena

Paper-II1
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52.

53.

54.

Match List-I and List-IT and identify
the correct answers using codes given

below :
List-T List-IT
(Race) (Region)
(a) Mangoloid (i) Asiatic/
oriental
(b} Caucasoid (ii) European
(c) Negroid (iii) African
(d) Australoid (iv) Australia
Codes :
(@) (b)) (@ (d)
(A (v} i) @ O
®) @O @ oG @)
© v @ @ 3y
(D) @) Gv) G) O

Who proposed core-periphery model ?

(A) Friedman (B) Taylor

(C) Baker (D) Whittlesay

The dissolution of the planning
commission was announced in the year

of :

(A) 2012 (By 2013

(C) 2014 (D) 2015
C-01-17




55.

56.

57.

58.

Assertion (A) :

Adhoc regions are delineated for
specific purpose.

Reason (R) :

River valley region is an example of
Adhoc region.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

Both (A) and (R) are true but
(R) is not the correct explanation
of (A).

(A) is true and (R) is false.
(A) is false and (R) is true.

(B)

(C)
(D)

Damodar valley is an example of

region,
{A) Formal (B) Nodal
(C) Natural (D) Adhoc

Areas in which certain specific
characteristics are found throughout
the area are known as

(A)
(B)
(©)
)

Functional Regions
Formal Regions
Perceptual Regions

Vernacular Regions

India launched its first-five year plan in
the year :

(A) 1950
(C) 1952

(B) 1951
(D) 1953

Paper-II1
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59,

60.

61.

AT

The boundary between India and
Pakistan is best described as :

(A) Cultural divide
(B)
©)
D)

Divided culture
Cultural boundary

None of the above

Match the following :

List-1 List-I1

(a) Political (i) California’s Wine
Region Country

(b) Religious (ii) Missouri Synod
Region

(¢) Tourism (iii) ASEAN
Region

(d) Natural (iv) Rumaila Field

~ Resource
Region

Codes :
(@) (b) (c) (d)

@A Gy G @ (v

B ) G) @) (Gv)

© @) Gv) Gi) @

D) @) i) (i1)

@iv)

Which of the following has multiple
objectives ?

(A) Town planning

(B) Integrated watershed programme
(C) Tribal development programme
(D) Desert development programme

C-01-17
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62. Match List-I with List-II and identify
the correct answer using the codes

given below :
List-I List-II
(a) Blue (i) Petroleum
Revolution products
(b) White (it} Oil seeds
Revolution
(¢} Yellow (ii1)) Fish
Revolution production
(d) Black (v) Dairy
Revolution products
Codes :
(@ () (© (@
A @) Qi) G 6w
B) Gy @ 3{v) (i)
© (v Gi) @) @

@) G @v) G) @

63. What is the International boundary
between India and Pakistan called 7

(A) Durand line
(B) McMahon line
(C) Radcliffe line

(D) Siegfried line

Paper-III

64,

65.

India consists of states and
Union Territories.

A 27,17 (B) 28,6

©) 29,7 (D) 285

Match List-I with List-II and identify
the correct answer using the codes
given below :

List-I List-I1

(a) Forest Research (i) Allahabad
Institute

(b) Institute of
Forest Genetics
and Tree

Breeding

(1) Jabalpur

(c) Centre for Social
Forestry and
Eco-Rehabilitation

(111) Coimbatore

(d) Tropical Forest
Research Institute

(iv) Dehra Dun

Codes :

(a) (b) (e) (d)
A @ ) @) (@)
B) G @O Gv) Gi)
©€) Gv) Gy @O )
D) (i) Gv) G @

C-01-17
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66. The Himalayas can be divided into four | 69. Given below 1s an example of
divisions from north to south. Identify
the sequence :

(A) Greater Himalayas, Trans
Himalayas, Shiwaliks, Lesser
Himalayas

(B) Shiwaliks, Trans Himalayas,

Greater Himalayas, Lesser (A) Clip (B) Mask
Himalayas
(C) Union (D) Intersect
(C) Lesser Himalayas, Trans
Himalayas , Greater Himalayas,
Shiwaliks
(D) Trans Himalayas, Greater 70. Given below 1is an example of
Himalayas, Lesser Himalayas, — function in GIS.
Shiwaliks
Districts Cropland 7.
67. The latitude and longitude location of ! 2 L1
Indira Point is i _| \8 4
3 4 |x
(A) 6°45' 10" N and 93°49' 36" E PG
5-] 6 @
(B) 7°45' 10" N and 92°49' 36" E
(C) 8°45'10" N and 91°49' 36" E (A) Yield Potential

(D) 9°45' 10" N and 90°49' 36" E o _
_ . (B) Coincidence view

C) Mask
68. What is 'Ritchie archipelago' ? &

(A) Fourth largest of Andaman (D) Weighted overlay
Islands

(B) Cluster of smaller islands lie

20-30 km east of Greater Andaman | 71 B ig the of a regression line.

(C) Most easterly island of Andaman ' _
Islands (A) Intercept (B) Height

(D) Largest island of Andaman and (C) Slope (D) Width
Nicobar Islands

Paper-III 14 C-01-17
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72. Match the following in the context of | 74. Conversion of a number of thematic

GIS : - maps to a General reference map
involves :
ist-I List-
Lis ist-11 () Clip Function
(@) Digitization (1) Analysis (B) Coverage Recode
(b) Plotter (i) Editing (C) Intersection Function
ract F i
(¢) Snapping (i) Output RN BRI
undershoots
(d) Buffer (iv) Data Entry | 75. Which of the following scales deals with
continuous data ?
Codes :
(A) Nominal or ordinal
(@) (b) (e () (B) Ordinal or interval
(A) (u) vy @ (1) (C) Interval or nominal

(C) () @ i) @Gv)
-o00o-

O @) @ v @

73. Population Density maps are :
(A) Qualitative. Thematic
(B) Quantitative Thematic

(C) Qualitative Non Thematic

(D) Quantitative Non Thematic

Paper-III 15 C-01-17
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